EARAROBREBRT —5 XN—ZXBISH—F 202212818 (R 8ElfntE4H

I NSE — US5%3k1448E ‘(fﬁ} B ‘[%EH?’;F&] — | & 15000 B
[xE%] 15 :1,600,000 3 . 23&:640,000 .~ 33&:400,000 @ 4 3&:240,000 0§ . 5 & :160,000 3
BE\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
N S iz B 140. -3-3- 6] - L] (S
118112 F—ILRRJL ~ 3 o= 1({))9 3-3-3-2 | 40.6 3 (5_085; U 5
RIE-=UR B:7FVIa/NR (\) #B81—-RU—yavBEEI7
. FEHRES 41, -5-6- . = 6 479 | EHFA (i)
205|6| F=7ILFILT 3R 1(7411? o563 | 402 (+12) | BB :
RiFARIU—bFry b B b=—TFYIA b7
1|38 41, -8-7- . - KERF (fofd)
3 PN Py IN 3| By 1(421)4 7-8-7-6 | 40.3 2 (if?) koms o
RiE—UR B:y—U—T—h EBRT7—L1L
~ SV = 1RGN 52 41, -1-1- . - ]AEX (IE)
4 3|\ 7VIISATT is 8 54.0 1(14/12)5 B ! (ﬁg) Ziges
R:7OYHKTT B:hLATA AT i —==
S~ s 3 | EIHHEKER 1:41.6 8-7-4-5 | 41.0| - 5 | 438 |[{EAAKD) (A6HE)
By 7r—1-5v5y 520 Y oo |HEE
R:RySAYFT BYN/TPRA Bl &
o= . 3 | FPEBA 1:42.8 1-11-12-12| 41.0 | — n 431 | B2BE— (1)
6181111 N=/HIL b 56.0 (6) (4 | D A
Ribh—EYVa—9Y BARFFIFTIR et
< Lo L+ 43, -2-2- 8| - WESE (1)
1 : REPPI=L = 35 [ R B R T |
R:Caravaggio By T4 A A=Y HBET7—L
. ETIEA 3. 11110 42.1| - {ECAHER (118)
87110 A=A+ RY 3 56.0L 16143)8 12-12-11-10| 42.1 10 (4:;) EPEE!%’EE o
RN—EVYIv— BARSYY7TF—7 HEIT7—L
" 3 | SBET 1:43.8 9-9-9-8 |42.5| - 9 | 510 |®O—HAR G
ol 5| 7ROV Y 54.0 hF) ) | @ JPNEH
RTFROFVIIL BRIFAvII—Y AW T4
s, BRI 44, -6-8- . = 4 469 | LKD) (fots)
10179 | ZEIL/DT=Ib "R 1 Z‘S ° AR R @) | ERER )
RV A— BiAVHATLAT A A&
— = <, =~ s 144, -4-5- . - JIISE (#Ef)
1l lzyr=ovsy # 3| M= 1(41%2 4-4-5-7 | 43.4 12 (4_441) nee &
RU—FHYIS0Y B:ZY/FIY—Ja hll SEER
S95 0w R 3 | RES 1:44.9 10-10-10-9 | 43.4 | — 8 424 | TEfehgs CRiAl)
125|5| 757714 E * 5.0 @ e | @ FFIVF
R:2-OVTUI—Y BEY/FUaX—)b v Bk

® 1—F—EBIRfL

13—F— [3.4,12,1,9.6.7.2,8,5.11,10
23—3— [3.4,12,1,6,9.2,7.8,5,11,10
30—7— [3.4.12,2,1,6,7,9.8,5,10,11

4J—7— |[3,12,6.4,2,7,1,8,5,10,9,11
@ IRE
& s 12 430 | | AR 6-12 1,230 | | # &= 5-8 2,250M | | 3EE 6-7-12 2,540H
& B 12 200F4 7-12 260/ | | # B 8-5 3,110 | | 3&=& 12-6-7 16,980M
6 360F3 6-7 700 | | 5 &= 6-12 3.770H
7 140M4 5 2 12-6 6,240M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




